;‘QX”K"EAPLR,\E,T SA2 - SA3 - BSS - BSD

78 In vigore dal - Effective from 15-12-2021 E




OTK KART JAPAN PRICE LIST
2025/2/1~

=2arik

KART JAPAN

SA2 - SA3 - BSS - BSD BRAKE PUMP

Description

A |0029.GB 775" vANZI-5Y9" - SA2-SA3-BSS COMP Complete one-piece brake pump SA2 - SA3 - BSS ¥71,300 ¥78,430
0078.B1 7" b=%ifi-25" 3I4YMAM~ b M10x1-1/8 (2015) Brake pipe's straight connector M10x1-1/8" ¥1,100 ¥1,210
0029.D13A 75" vANZS-27°UY5" SHORT(ERAT) Brake pump's spring ¥320 ¥352

D+E [0029.D10DKIT  |ENJ7¥" ¥AMAI-L° MY D.13-8ILONG (54=Y)"{3) Brake pump's lining @ 13-8 mm ¥5,600 ¥6,160
F  ]0029.12 XA9-3U05" -5-h" - Seeger ¥20 ¥22
G |0120.A0 YA9-5Y59" -5 AMIN" - SHORT Brake pump's dusty rubber cap ¥1,300 ¥1,430
G |0120.A0N Brake pump's dusty rubber cap ¥1,300 ¥1,430
H |0029.B6A XA9-5UY5"-7° 39" &0-UYy* Discharge plug with OR ¥1,100 ¥1,210
I [V.TCE6X55 Fry7°il” hb 6x55 TCEI screw 6 x 55 ¥70 ¥77
J |R.P.6X12 793¢~ D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
K D.M6A.A. Fyb M6 A.A. nut M6 ¥20 ¥22
L  |0029.D6 XA9-5U05" -9 Brake pump's tank ¥9,200 ¥10,120
M |0029.D6A XNA-SU5" - MW ¥vyI° Brake pump tank's cap ¥6,100 ¥6,710
N [0029.D15 NAI-SU5" -MNH34=99* Brake pump tank's lining ¥1,800 ¥1,980
0 |0029.D16 A=YV -HMNIYIF4Z05" DS v- Brake pump tank’s washer ¥310 ¥341






